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No| RIER |H#X%£ i T =EOT i = 16

1 BETHHE 0.06 - 0.07 -
9| R 0.07 - 0.07 0.07
B BSEER 006 - 007 -
4 AR HE 0.07 - 0.06 -
| ] SIERER 0.06 - 0.06 -
6] ERHE 007 - 007 -
K REEBLED - _ N -

8 BUOTEREE 0.07 - - -
o] HFHHE 0.07 - 0.07 -
| 10| AYREEEILY 0.06 - . -
1q| 11ROH GENNKI-C R EE 0.06 - - -
12 R E AR 0.07 - 0.06 -
| 13] =ARAEE 0.06 _ N _
14 Xy XAV REE 0.06 - - -
5] £ |0RUYHE 0.07 - 0.07 -
E E EEREM 0.06 0.06 0.07 -

17 o e el I 1Y - - 006

18 BEFLU-ISRESABE 0.06 0.07 - -
[ 19) REEIECHIEC 0.06 - N _
20 EhELREER 0.07 0.07 0.07 -

21 KIBPHRER 0.06 0.06 0.06 -
29| E/vFA 0.06 0.06 - -
23 KBAFRER 0.06 0.05 0.05 -
| 24] VEHDYREER 0.05 - 0.06 -
| 25| EREER 005 - 0.05 -
26| 118108 BERAM 0.07 0.06 0.07 -
| 27] BEUHLEEE 0.06 - — -
| 28] EILFHE 0.09 0.09 0.08 -
29 BRESHE 0.07 - 0.07 -
| 30| HRNREN 0.05 0.07 - -
31 ECELE 0.08 - 0.07 -
| 32] a  [BENEER 0.06 - 0.06 -
% 11B128 fmt j_cﬁtﬂﬁ’:iéw? 0.07 0.07 0.(26
| 34] e RAERBM 007 007 0.07

35 KIRER 0.08 0.08 0.07 -

36 BIIRARM 0.08 0.07 0.07 -
37 LFMRER 0.06 0.07 0.07 0.06
E a1 EFRER 0.07 0.06 0.06 -

3 B |FIRHRERT 0.06 0.06 - 0.06
0| "B i (e 0.07 0.07 0.06 0.06
i X -

41 BEXREM 0.07 0.06 0.07 0.07
42| AOVREE 0.06 0.07 - 0.07
43 FURREE 0.05 - 0.05 -

44| 11R128 | #&E |HEREM 0.06 0.07 - -

45 i |EmEEm 0.07 0.07 0.06 0.07
| 46| 11A58 tﬁ EREEHR 0.07 0.07 0.07 0.08

47 X [fEIRER 0.07 0.07 0.08 0.08

48| 11A48 | #HE (HEMREEH 0.08 - - -
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